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1.
Find the integral for the function given below from x = 1.00 to x = 1.80 using Simpson's 1/3 Rule.

x
1.00
1.10
1.20
1.30
1.40
1.50
1.60
1.70
1.80
1.90
2.00

f(x)
2.00
2.92
2.68
2.27
1.71
1.10
-0.83
-2.73
-3.63
-5.43
-5.00

2. Use a combination of Simpson’s 1/3 and 3/8 Rule to find the integral from x = 1.00 to x = 1.70.
3.
Repeat Problem #1 using the Rectilinear Rule. 

4. Find the integral of the function x4 – 3x + 20 from x = 1 to 5 using the Gaussian Quadrature method and the error compared to the exact value as determined from analytical integration.
a) Cubic order

b) Fifth order

